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(5) 2246z —72=0; (6) y2+7y+5=0;

(7) 322—6z+41=0; (8) 4y*—\/By=12.

2. AABEMRET « R,
z?—az—b=0 (5=>0).

L.MTH A
(1) 2°+42+4=1;

(2) @—1)@+3)+@r+1)(z —2)+2=0.

»

5



—JC R T PR R (3)
1. AARER TR
(a8, 2+ 72 +10=0; (2) 22%+32—5=0;

(3) 3y*+6y—2=0; (4) 2?2—2.52—6=0;

5) 2::’—4z+%=0; 6) —%—y2=2y-{—1;

(7) 58—1=4t; (8) 8y*+1=41"2y.

e b =



2. HARER T E,HRBAEOUEEHRE] 0.01).
(1) 22—42—8=0; (2) z22—4\/32+7=0.

L.MBTHIRT » Y
(1) az?—(a+b)z+b=0 (2) z*—2mz+(m*—n?)

(@a#0); =0.

—IL R BRRE (D

1. FEHTTEM TR
1) 42?—1=17; (2) 9(2z+5)*=25;

(3) 22=9z+422; (4) z(2—9)=136;



(5) 422 4-3=Tz; (6) 2z°+z(z—6)+2=0;

(M) 2*4+4(1—2)=0; (8) 2e+1)(2z—1)=3z.

2. THXT = IR
(1) 2(@+m)+2=2(mz+3) (m7*1);

(2) ab(@*+1)=(a*+b*)z (ab7#0).

3.z RAF 250, (1—32)2 W{EM 32 —7 WHE AR B2

L



—5E RN AR (5)

1. AR MR TR
(1) 2246z +8=0; (2) 22—2z—15=0;

(3) y'—13y+42=0; (4) y*—6y—72=0;

(5) 22492 —36=0; (6) z2—14z —32=0;

£ 2l »h T e B
P P HIPH e RN TR S

(D 22 —6=0; (8) Ba?—3da+21=0; .
B f AT Erade S IR TR U



(9) 4(3z—1)*=25(2z +3)%;
(10) (3r —2)*—2(3z —2)—3=0.

2. BTHIRT « R
(1) 6m%z2+maz—15=0 (m?&O?:

(2) 2a*z*—Dbabz —3b*=0 (a70).

3. BHy= 222—3z—5 ,x RAT 2%y B‘Jﬁ%ﬂ‘z? X%z
fal ety W{E%ZP Lo g

+10 - =



—IL KT R RIA (6)

1 FiE 4 T AR
(1) z?2—5z2+6=0; (2) z2—5z—36=0;

(3) z2+4192 +48=0; (4) 2(3y+2)*=32;

(5)(22+3)(z—2)=4; (6) (+4)>*+1*=16;

(1) Bz+2)?=4(32+5)3(8) (4+2V2)=812y;

(9) 422 +4r=15G+1);

s 91 %



10) z2’+V 6 =/ 3 +V 2 )z.

2. Efl:42% 442y —15y*=0.
3 5
E}zﬁE:I =?yﬁ?f——§y

$12.3 R RARAHIHIR

1. R MG T R AR A
(1) 32%+4z+2=0; (2) m(Om—+6)+1=0;

(3 521—2=0.25r5  (DTyG++2.4=0;

£ 12



